EARAZROREIERT — 2 N—XBISY —F 20135F2F24H (H) 1[@EIBR#2H

m"fﬁ%Sﬁ KEEF 4t [IBF] B ‘ [Xiz] % ‘ [eErsm]  — | & (&) 1800M FAE
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s = 3 | EH#E 1:57.8 4-4-4-4 | 38.4| 83.8 | 2 46 | EAE (RR)
1 2|3 T4 I—=I)b it 54.0 =) +2) () /—ZEeNLZX
R:TFITRAFVEIIN B:RLZAO-FK H¥RAEHE /—Zex
BEEET :58. —5-4— . . EEFAN (ER)
2 3| A1 —=hrU T R 1<528>1 AR el e ?_Sf) R
LBATATv— B:ZAVYT T MY — MEE
= 3 | BHEZ :58.1 1-1-1-1 | 39.0| 80.0 | 5 516 | AARAES (K#)
sl 4|74 -7 [B] % 54.0 ) o) |EERH Y
RGAT*ATv— BINITTITUR (B) A3 -FRL—->a>aEI7
— REIREX : —6-6- BREE= (FEXR)
4l ¥e=>HuF i 3 SR 1(.15/%)2 6-6-6-7 |38.5| 80.3 | 4 (4_128) e
L:vVv=+t7744L B:YIZ>O—-422X EA 1k
) i3 | ENEE 1:58.3 2-2-3-3 [ 39.0| 78.8 | 1 446 | BEEH (ER)
5|5|6 ATV T72L 54.0 (3/4) (-4) EEER
L:vAxNTT B XTVTEXS AR B
=< v REWEZ :58. —6-6- . . HwHEEZ (ER)
6lglio| #75>8—bF— it 3 i 1(75?:;1 6-66-7 |38.7| 78.6 | 6 a:g;) EEe
R:7RYAVRZX B:HI5%tF B %
2 4 3 | TRUE—EB 1:58.8 10-10-9-9 | 38.8| 75.2 | 3 450 | PMRAKRE (BH)
717110 JOBAIJF A 54.0 (2 1/2) © (\) $>7-L—-v>7
RV RYZYAIR BTN AX)T (B) A1 -KL—va> a7y
5 = # 3 | EAHN 1:58.9 2-2-2-2 | 39.7 | 72.1 8 470 |FHRE (ER)
8 5 TIVY LT F 54.0 (3/4) (-14) BH=TE
R8T BiR— hLTF SRS
N > 4 3 | ATH 1:59.1 11-11-13-12| 38.6 | 72.6 | 11 426 | IFEE (ER)
9|5|7|P¥/LTRR 54.0 (1 1/4) © | AR
L VWN=F v —L B:oran—gr $TH #;|x
2 ¢ 4 3 | AR 1:59.4 12-11-11-11{ 39.0 | 70.1 | 12 | 468 |m=t&z=iE (XiH)
ofg 1| S¥x/FU—A4 54.0 (1 3/8) o |EERE
R:TFATLH— BIASCHALER i B
5 = 3 | E=mER 1:59.5 8-8-6-6 |39.8| 67.3 | 10 | 494 |REMER (FR)
1M 9| AX—bhTaxq17 e 54.0 (7 1 (cay | RNIEE
L:Zv—hHAHF— B:FLTILTal WS s
5 4 3 | AEEN 1:59.9 8-9-11-12 | 39.6 | 65.2 | 13 | 444 |/lIF¥ta2 (FH)
12 8 g1) /7<% 54.0 (2 1/2) (+4) EARTERE
LY LFAN—F BEHIRE— I E=
g 3 | mA& - 13-13-10-9 | — — 9 472 | BB (ER)
wlg i3l 2 FOCEY i (ehib) o |FE—
L:d—WRFPYa— BiALF4d59 77— L4
@ 71 L
) 51.7-38.7
NO>Z4 L | 13.0-11.6-14.6-13.4-13.5-13.0-12.5-12.6-13.6
@ 1—F—@&BIEf
=="F= 4(5,6)2,3(1,12) (8,9)-10,7,11-13
2al=5F= 4(5,6)2,3(1,12)9,8,10(7,11)-13
gI=7"= (x4,5)6(2,3) (1,12,9)-10,13(8,11)7
43—+ — (x4,5)6(2,3)9(1,12)-(10,13)11(8,7)
[ RN
B OB 2 480M 714K 2-3 1,140H e & 2-3 5,060 &R 2-3-4 15,840M
% B 2 250/ 2-4 1,310 | | B &= 258 4,310 | | 3EE 2-3-4 78,420
3 950M 3-4 3,130 B H 2-3 7,420M
4 680M

ABICOVWTRDTEEERROODE. TR LIV,




